Find the broadcast address for the following IP addresses?

1. 192.168.5.42/28      Borrowed = 4, Remaining  = 4
Block = 2^4 = 16

Therefore networks on 

.0
.16
.32
.48
.64 
…

192.168.5.42 is on the .32 network so the broadcast address is one less than the next network = 192.168.5.47
2. 10.0.255.164/26
Borrowed =2, Remaining = 6 
Block = 2^6 = 64

Therefore networks on 

.0
.64
.128 
.192

10.0.255.164 is on the .128 network so the broadcast address is one less than the next network = 10.0.255.191 
3. 7.30.255.56/8     8 bit mask  (Remember 8, 16, 24)  1st Octet is network.
7.30.255.56  is on the network 7.0.0.0  so the broadcast address is one less than the next network = 7.255.255.255 
Which of the following are on the same network?  
Block = 2^4 = 16 so networks are
.0  .16  .32  .48  .64  .80  .96  .112  .128  .144  .160  .176  .192  .208  .224  .240  
192.168.255.18/28

.16 network
192.168.255.71/28

.64 network
192.168.255.250/28

.240 network but invalid!
192.168.255.30/28

.16 network 
192.168.255.66/28

.64 network 
Find the Network Block for 

165.255.255.120/29 Borrowed = 5 Remaining = 3
Block = 2^3 = 8 so networks are
.0  .8  .16  .24  .32  .40  .48  .56  .64  .72  .80  .88  .96  .104  .112  .120  .128
Subnet Mask: 255.255.255.248
Network Address: 165.255.255.120
First IP Address: 165.255.255.121
Last IP Address: 165.255.255.126
Broadcast Address: 165.255.255.127
What is wrong with the following IP Address – Why?

172.16.254.160/27 Borrowed = 3 Remaining = 5
Block = 2^5 = 32 so networks are
.0  .32  .64  .128  .160

It is not an IP Address it is a Network Address
.240 mask is 1111000       Borrowed = 4 Remaining = 4
Block = 2^4 = 16 so networks are
.0  .16  .32  .48  .64  .80  .96  .112  .128  .144  .160  .176  .192  .208  .224  .240  
	


You have been allocated a Class A IP address from your Network Administrator and have been requested to configure a 3 LANs for an organization.

The network address is – 67. 9. 9. 0 / 24  We need to borrow 3 bits to get at least 3 lans
How many valid sub-networks will you get?     2^3 – 2 = 6_________

What will be the new Subnet Mask?      255.255.255.224
 

List the total available Subnet addresses.  
(*Note the table size is not a clue!)                        
	Binary Subnet
	Complete the sub network, network address in dotted decimal notation for each sub network.
	Complete the sub network broadcast address in dotted decimal notation for each sub network.
	Configurable host IP ranges for each sub network.
	Valid?

Yes or No

	000
	67.9.9.0
	67.9.9.31
	.1 - .30
	N

	001
	67.9.9.32
	67.9.9.63
	.33 - .62
	Y

	010
	67.9.9.64
	67.9.9.95
	.65 - .94
	Y

	011
	67.9.9.96
	67.9.9.127
	.97 - .126
	Y

	100
	67.9.9.128
	67.9.9.159
	.129 - .158
	Y

	101
	67.9.9.160
	67.9.9.191
	.161 - .190
	Y

	110
	67.9.9.192
	67.9.9.223
	.193 - .222
	Y

	111
	67.9.9.224
	67.9.9.255
	.225 - .254
	N

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


How many hosts will you be able to configure to each Sub-network?

There are 5 bits in the node portion so you would get 2^5-2 hosts on each network = 30



PC Name: Room1_PC1





Workgroup: BLD4_LVL1





IP address: 212.10.2.50





Subnet Mask: 255.255.255.240





PC Name: Room1_PC2





Workgroup: BLD4_LVL1





IP address: 212.10.2.47





Subnet Mask: 255.255.255.240





Router





Hub





PC Name: Room1_PC3





Workgroup: BLD4_LVL1





IP address: 212.10.2.60





Subnet Mask: 255.255.255.240















































This machine is on a broadcast address – Move it to a valid range with the other PCs, perhaps 212.10.2.55








